
Assembly Instructions
Item# 117-6X

Decorative Ladder

Anti-Tipping Hardware

RF10004

x 4 x 2 x 2

RF10002 RF50003
Screws F6 x 5/8" Screws F6 x 1 1/4" L-Bracket

How to assemble the ladder

 The bolts and nuts
are a gold color.

Step 2. Twist 3 Rungs (C) to attach Right Leg (B) to the unit as shown in diagram 2. 

Tip: Align Left Leg (A) and Right Leg (B) parallel to one another. Make sure both ends of 
the Rung (C) are inserted in the holes simultaneously while twisting to ensure a tight �t. 

Step 1. Insert 2 Rungs (D) into the holes on Left Leg (A) as shown in diagram 1.

 The bolts and nuts
are a silver color.

Diagram 1.

Diagram 2.

A
B

C

C

C

D

D

D

D

A

Left

Left

B

C

C

C

RightD

D
A

Parts List

A

B

C

D

No. Description Q’ty

1 pc.

1 pc.

3 pcs.

2 pcs.

Left Leg

Right Leg

Rungs

Rungs



Wall

Wall

RF10004

RF10002

RF50003

Use L-Brackets (RF50003) and
screws F6 x 5/8” (RF10004)
to attach two side panels through the studs
into the wall, using screws F6 x 1 1/4” 
(RF10002) as per diagram.

Anti-Tipping


